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> A <- matrix( c(1,2,3,4,5,6) ,nrow =2, ncol=3) matrix (N2 K~Jl,ncol = FID%N)

> A = NCol wp

[.11[.2] [,3]
[1.,] 1 3 5

2] 2 4 6
> A <- matrix( c(1,2,3,4,5,6) ,ncol=3, byrow=T)
> A
[L1]1[.2] [,3]
[1,J 1 2 3
2] 4 5 6

e ALERS BDELEDINIM
o Al1,] 1178 A[,1] 1318
¢ colname() D &EHI

¢ rownames() 7D RAHI




> A <- matrix(c(1,2,3,4),ncol=2)
> eigen(A)

eigen() decomposition
$values
[1] 5.3722813 -0.3722813
$vectors

[,1] [.2]
[1,] -0.5657675 -0.9093767
[2,] -0.8245648 0.415973

) Z
list (B#1,

BR2,

* RLEDBRDEZY

o t1 [[1]]
o t1$HBE

# 1EHDER |




> name <- c(“A”, “B”, “C”, “D") T == ) el

>h <-¢(148, 152, 154, 158) data.frame

> w <-c(52, 54, 56, 58) (Bx1, EZ2,
> df <- data.frame(name, h, w)
> df

w
148 52
152 54
154 56

df[1 g 1:3 DI 7 =’ I =
158 58 o df] ] [ 78S, JES]
> names(df) + df$h 1:3 & c(1, 2, 3) ‘

[1] nnameu nhu “W”

¢ AILRS.BEDREDINI I
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> install.packages(“tidyverse”) # tidyverse (B8 D/NvITr—2)
> install.packages(“magrittr”) o =47 —L3iE tibble
> library(tidyverse) e F—H5IJL—LZER tidyr

¢ F—5IL—LZR dplyr
¢ J7MIVEiHIAH readr
¢ J5J/ER ggplot2

#INYT—
o BRI IREE P BERDI-DORHE L

o 47—y MIEHELUTNWBIRIET
T5ET7M)VEmHAATND




namel1,C,D

B1,148,52
> a02 <- read _csv(“c0302.csv”) B2.152.54

B3,154,56

> a01 <-read.csv(“c0302.csv”)

read.csv : FAIAINI-ZDAIT data.frame B4,158,58

B5,163,60

ZLDIBEIC1FEHICHDBABELZTRELTESZENTED
52 H B E header = FALSE

read_csv : FiRAFEN-1EZDAI tibble (F— 7L —LDILR)
TRISEDEN 1TEIS S DZH

5| ZhtiE NS S col_.names = FALSE




#y <-f(x)

#2z <-9g(y)
#w <-h(z)
HZ1TD

# x <- f(x)

#h (g(f(x)))

> X %>% f() %>%
a() %>% h()

#ETDIENTED

N TEEF
¢ base |>
¢ tidyr %>%

o magrittr %<>%
#y<- x%>% f()
&=
#X %<>% f()

c9D




> X %>% filter(A>25) %>%
select(c( id, B) )




2DODFTF—YIL—LDEE o

2ODT—HFIL—L%HEE %>% left_join( d2, by="id" )

# left_join right_join %>% right_join( d2, by="id" )

# inner_join full_join %>% inner_join( d2, by="id” )
%>% full_join( d2, by="id" )




> df3 %>%pivot_longer( c(SD,SE), > df4 %>% pivot_wider(
names_to="subject", names_from = subject, values_from=score )
values_to="score” )

id | subject




> df_suba <-read_csv("subA.csv")

> df_subb <-read_csv("subB.csv")

> df _subc <-read _csv("subC.csv")
> df_sub <- df_suba %>% full_join(df_subb) %>% full_join(df_subc)

> df_sub %>% select( c( subA, subB ))
> df_long <- df_sub %>% pivot_longer(c(subA,subB,subC) ,
names_to =“subject”, values_to="score” )
> df_long %>% pivot_wider(names_from =subject, values_from=score )

> df_long %>% filter( is.na( score ) )




